9"
16 GAGE OR 13

OPENING
(NOT OVER
DOOR

HEIGHT

HEIGHT)

3/4" X 1=1/2" X 13 GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

2" GALV. STEEL VERTICAL TRACK
BOLTED TO TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS.
18GA. (9 X 7), 16GA. (9 X 8),

63" (9 X 8)

[T 13 GAGE GALV. STEEL TRACK SPLICE
OR FLAG BRACKET., FASTEN TO WOOD
JAMBS WITH 5/16” X 1—-1/2" LAG SCREWS.

GALV. STEEL HORIZONTAL TRACK.

GAGE BASED ON

THE WEIGHT OF THE DOOR.

USE EXTRA
1/4" X 3/4"
HEX HEAD SELF -
DRILLING SCREW S
N'a
~ NN\
DETAIL D

COMMERCIAL (9

(2 BRACKETS EACH SIDE)

X 7)

~N
~
©©
> >
o~
23

COMMERCIAL (9

(3 BRACKETS EACH SIDE)

X 8)

1/4” X 1/2" LONG
CARRIAGE ‘BOLT & NUT

1/2" POLYSTYRENE
INSULATION STANDARD
FOR MODEL 735

b

K

(2) 1/4" X 3/4"
SHEET METAL SCREWS.

n TR

R

GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER
(SEE DETAIL D)

ROLLER WITH 7/16” DIA. STEM.
NYLON OR 7 BALL STEEL. (9 X 7).

2" ROLLER WITH 7/16" DIA. STEM.
7 BALL STEEL. (9 X B).

10 BALL STEEL OR 11 BALL NYLON

ROLLERS ARE ALLOWED

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK BMUST ENGAGE

TRACKS ON DOORS WITH EXTENSION
SPRINGS).

STEEL END HINGE COMMERCIAL
A'I'I'ACHED WITH 5 FASTENERS.

14 GAGE. (SEE DETAIL C).

AEVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

THIS STRUT ON HINGE

LEAF. (SEE DETAIL C)
OTHER STRUTS IN MIDDLE
OF TOP & BOTTOM SECTIONS.

OPTIONAL SSB

1 =
—

l—— 2.75 ——|

3"

1

USE ONE EXTRA SELF
DRILLING SCREW THROUGH
TOP LEAF OF HINGE,

END STILE & RAIL.

e
RNATE CONSTRUCTION
GLASS LIGHTS \ A USING (2) STRUTS
- 1 B
L 1
T 77 TI1 —OPTIONAL
i LONG PANEL
] 1 o I 1 ) ]
I/-‘—' — == H| 7' OR 8
OPTIONAL LOCK : : : : : ! l J
D77 T ] LV777I'I gl
3 STRUTS L/ = g |
= (SINGLE CAR) SENTER STILES
20GA X AND HINGES
(SEE DETALL A) 16" AIR VENTS (1 COLUMN)
(2) REQD._ (8050
H MIN. TOTAL OPEN
AREA).  OPTIONAL.

i DETAIL A 20 GAGE END STILES
I 3" 20GA WIDE STRUT
! /8" POLYSTYRENE INSULATION o
OPTIONAL FOR MOD. 724, 730
20 GAGE END STILES — FASTENED WITH 750, 755, 426.
TOG-L—LOCS TO PANEL. USE END GAP ) . .
OVER END STILES ON § X 8. 21" OR 24 ’ S
SEE DETAIL C. HIGH PANEL
. GALV. AND o <] \\__/
STOP MOULDING NAILED EVERY 12 BREPAINTED STEEL —
67D TYPE NAL Mt L 25 GAGE ALL MODELS AGE GALV. STEEL BOTTOM BRACKET | i AW
L5 — ERCEPT 24 GGt ATTACHED WITH 2 FASTENERS © \X/
4 et ' BOTTOM SCREW CAN BE ABOVE OR RAILS
2 BELOW ROLLER. GAGE
_ o o ENDCAP_USED ON LH.
T LAG SCREW — 5/16" X 1-1/2 ENDCAP USED ON_
SECTION B-B 20 GAGE GALV. STEEL CENTER STILE
TOG-L—LOC OR POP RIVETED TO PANEL. NOTE. GLAZING DOES NOT SATISFY IMPACT DETAIL C 9 >< 7
10GA. COMMERCIAL GALV. STEEL TRACK BRACKETS. SEE ABOVE 18 GAGE GALV. STEEL CENTER HINGE RESIDENTAL SECTION A—A DEBRIS REQUIREMENTS IN FBC
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16” X 1—1/2"  FASTENED WITH (4) 1/4” X 3/4" 9 >< 8
LAG SCREWS. PREPARATION OF JAMBS BY OTHERS. HEX HEAD SHEET METAL SCREWS. - FL 15080
\\\\\\
P.SF. TABLE S EORTE N, 5800 SCOTT
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE = Q. ALY '. m HAMILTON DR.
NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE - LITTLE ROCK, AR
V:lDTH ; ’HElGHI POSITIVE _ NEGATIVE |POSITIVE  NEGATIVE / 0 X 5/8 HEX BOLTS & NUTS O ;* ..*" 72209
9'—0"|7"-0"|+22.9|-26.4 | +34.4|-39.6 174 % 3/4" LONG HEX HEAD SHEET METAL SCREWS. 7%, -.I’ A m (501) 562-1872
3 » L ” ,
9'-0"[8'-0"[+19.2|-22.2| +28.8/-33.3 {. SONESCATES 2 VODELS:
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES l'%'-. 56308 ‘3:/’ 724, 426, 730, 735, 750, 755
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—-05/12/17. N ’CENSF/O &z D [roLLex Notes, e Aooress| 5,/27,/20 PART NAME:
\ -
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. “fSS/o PN\ g C |REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
WONALES | B [——Ti2/15/11] RiB_[/OEFANCE| W1 B
John E Scates PE : o - . .
2560 King Arthur_Bivd #124—54| Professional Engineer's seal Digitally signed by John E. Scates, P.E. A [ 2866 [3/10/08] RLB |FRACE /64 TREXT (EVEL | pATE: DWG. NO
Lewisville, TX 7505 provided only for verification of Date: 2020.11.10 15:36:22 -06'00" DEC. £ .01 . .
IX—PE 56308, F-2203 windload construction details. ate: Al D02s - 2848 |11/1/07| RLB i 11/1/07 | 99—-B-079
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. [REVIE.C.N.| DATE: | APPROV. S(C:)Al\\ll_lg PLOT SCALE DRgH B  SAT 1 OF 3
— _



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


13 GAGE STEEL TRACK R "
SPLICE OR FLAG BRACKET, 3/4" X 1=1/2" X 13 GAGE MIN.
FASTEN TO WOOD JAMB o GALV. STEEL HORIZONTAL ANGLE. USE EXTRA
WITH 5/16" X 1-1/2" 1/4" X 3/4"
LAG SCREWS HEX HEAD SELF
DRILLING SCREW
USE (2) 1/4" X 3/4"
SHEEI( R/IEI{\L SCREWS.
TRAGK 6 OAGE DR 13 GAGE
2" GALV. STEEL
BASED ON THE WEIGHT
Ygg;"f"'— TRACK / OF THE DOOR.
BOLTED TO #4
TRACK BRACKETS /
WITH 1/4"—20 X
5/8" TRACK BOLTS.
63" (16 X 7)
74" (16 X 8)
OPENING
HEIGHT 44
NOT OVER
DOOR HEIGHT)
42" (16 X 7)
50" (16 X 8)
#3 ?
21" (16 X 7)
4 BRACKETS EACH SIDE| 24" (16 X 8)
T
# 5

f

20 GAGE END STILES — FASTENED WITH
TOG—L—LOCS TO PANEL. USE END CAP

OVER END STILES. ( SEE DETAIL C)

STOP MOULDING NAILED EVERY 9”
6—D TYPE NAIL MIN.

ey
Nl ) —
2 LAG SCREW 5/16" X 1—
f SECTION B-—B

20 GAGE GALV. STEEL CENTER STILE

’ ’
R ALY DEBRIS REQUIREMENTS IN FBC
GAGE GALV. STEEL CENTER HINGE RESIDENTIAL 1€ OF TE}\\ FL 15080
. COMMERCIAL GALV. STEEL TRACK BRACKETS. SEE ABOVE FASTENED WITH (4) 1/4" X 3/4" 'c‘,ﬂ_‘.’?-""""'--.ﬂ&\'
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16” X 1-1/2" HEX HEAD SHEET METAL SCREWS. &z = OGN )
LAG SCREWS. PREPARATION OF JAMBS BY OTHERS. Irs '-_*0' 5800 SCOTT
Zai TN iad WINDSOR | -»iuon or.
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE ¢ JOHNE.SCATES ‘ %'g'(—)% ROCK, AR
WIDTH ___HEIGHT| POSITIVE _NEGATVE |POSITIVE __NEGATVE|  \oTE: ﬁ% N%"QEE%R"’H\E’)E( Eﬁ%NfsNgyg%% T0 BE "' 56308’/ A m (501) 562-1872
' n” ' A" _ _ "_ ” o :
16'-0" |7/ -07+18.7|-20.8 | +28.1|-31.2 1/4" X 3/4” LONG HEX HEAD SHEET METAL SCREWS. "55-. & Q‘fc’b"’ MODELS:
’ » ) ” K\.'- 4 - :
16'—0" |8'=0"|+18.7|-20.8 | +28.1|-31.2 \\fé--/.?!;'!‘}??- oo 724, 426, 730, 735, 750, 755
(0] v -
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES X \\N\A\\‘ J D RoLLer NoTES, PE ADDRESs | 5/27/20 PART NAME:
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17. C [Rev Loco & ADDRESS 1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. B 12/15/11| RLB TOLERANCE | W1 B
John E Scates PE Professional Engineer’ I FRAC.E 1/64”] :
2560 King. Arthur Bivd #124—54| provided only for verification of A | 2866 |3/10/08| RLB JrRc"% '6rs [ NEXT LEVEL DATE: DWG. NO.
Levﬂg\ell%ﬁg())(87fl>-'o—526203 windload construction details. 2848 11/1/07 RLB ANG. £ 1° ‘]‘]/‘]/07 99—B—079
FL-PE-51737 SCALE | PLOT SCALE | DRN. BY
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. frev.|E.c.N. | DATE: | APPROV. NONE BH SHT 2 OF 3

1/4” X 1/2" LONG
CARRIAGE 'BOLT & NUT

C b

. 5 STRUTS 4 RNATE CONSTRUCTION
TOP Sgicﬁéll_'vwﬁ'LE%t 3" 20GA WIDE (16 X 7 USING (2) STRUTS
D Qe it 3 Teeh ke e X 4 s R
: (SEE DETAIL A) -~ A B
T JUST BELOW H 1 _[—1 1 1 [ 1 g 1 1t 1 [l 1 { H
TOP BRACKET. I’//I I //I I’)I I //I I’//I I //I I’//|<|/////|

2" ROLLER WITH

DETAIL D

1/2” POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735.

21" OR 24" HIGH
PANEL GALV. AND
PREPAINTED STEEL
25 GAGE ALL
MODELS EXCEPT

24 GAGE MODEL
750, 755

[

1/2"

N,

|

{

LI 1R
7

7/16" DIA. STEM.

(16 X 7) 7 BALL STEEL SHORT STEM
(16 X 8) 10 BALL STEEL LONG STEM OR

11 BALL NYLON LONG STEM

OPTIONAL LOCK

ON UPPER PART OF
OVER_HING
SEE DETAIL B).

T
SECTIO
LEAF.

END HINGE ATTACHED
WITH 5 FASTENERS.

ALVANIZED STEEL
STRUT ATTACHED

WITH 1/4™ X 3/4"
LONG HEX HEAD

SELF DRILLING SCREW
(2 PER VERTICAL STILE)

STRUT ON UPPER PART OF
SECTION OVER HINGE)
LEAF. (SEE DETAIL B).

/8” POLYSTYRENE
INSULATION OPTIONAL
FOR MQOD. 724, 730,
750, 755, 426.

T ON BOTTOM BRACKET

] AGE GALV. STEEL
BOTTOM BRACKET
ATTACHED WITH 2

FASTENERS. BOTTOM

SCREW CAN BE ABOVE
SECTION A—A OR BELOW ROLLER.

TOG—L-LOC OR POP RIVETED TO PANEL.

B

/

. STEEL (14 GAGE) COMMERCIAL

ﬁq%H MIN. TOTAL OPEN LONC SoANEL
AREA).  OPTIONAL. CENTER STILES (5 COLUMNSQ
CENTER HINGES (3 COLUMNS)
USE ONE EXTRA SELF
DRILLING SCREW THROUGH
TOP LEAF OF HINGE,
END STILE & RAIL.
TYPICAL FOR EACH 125" - 20 GAGE END STILES
END HINGE -
20 GAGE
END CAP
.
@] _I_
f— 275" —=|
' DETAIL A
o = DETAIL C
Wi \\ 7 37 20GA WIDE STRUT 216 X 73
- £ 3" 18GA WIDE STRUT (16 X 8
o A\
o \ /
RAILSl
LH.
NOTE: DOOR MUST BE INSTALLED 9 5
WITH EITHER AN ELECTRIC OPERATOR ’I 6 >< 7
DETAIL B OR A LOCK (MUST ENGAGE BOTH

16" (DOUBLE CAR)

TRACKS ON DOORS WITH EXTENSION

SPRINGS).

NOTE: GLAZING DOES NOT SATISFY IMPACT



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


13 GAGE STEEL TRACK » » (3) 1/4" CARRIAGE BOLTS 13 GAGE GALV. STEEL TOP BRACKET 8§ STRUTS ﬁIETEEN?Z)E g—PRNSTRUCTION
SPLICE OR FLAG BRACKET, 3/47 X 1-1/2 WITH 10 GAGE ROLLER HOLDER. 3" 18GA WIDE
FASTEN TO WOOD JAMB X 13 GAGE MIN. NOTE THAT ROLLER HOLDER (SEE DETAIL A) OPTIONAL SSB
WITH 5/16” X 1-1/2" GALV. STEEL CURL IS TURNED DOWN. GLASS LIGHTS
LAG SCREWS HORIZONTAL ANGLE. — SEE DETALL D. : : N el : : -
e A8 ) a4l aanlIaalalal.alI 22
SHEET METAL /“FxTrA » F’\ : : : : ; ' 7 OR &
SCREWS 1/4" X 3/4"
0 v e il 1 ]
TR BT T DETAL D » STt °
2" GALV. STEEL 2" HIGH STRENGTH ROLLER WITH
VERTICAL TRACK BASED ON THE WEIGHT OF - 7/16" DIA. LONG STEM. |- |- | | —— — — —
16GA / THE DOOR. 10 BALL STEEL ; : : : N H|
BOLTED TO / 1.25" — |—— °09 [—l Ul U 0] ] il
TRACK BRACKETS — | — g — gy | ) =1 T
WITH 1/4"-20 X A OPTIONAL LOCK == | == ; : Lﬁu ’
5/8" Thack SoTs. 63" (18 X 7 | \ | l=a \
OPENING SEE DETAIL "E” LEAF. (SEE DETAIL B). \—OF’TIONAL
HEIGHT b LONG PANEL
NOT OVER f— 2.75" —=| ALV. STEEL (14 GAGE) COMMERCIAL EMBOSSES
DOOR HEIGHT) DETAIL A \';:v?‘T[:' *(‘S'NEEST‘I\_:EQ%ED ENTER STILES (7 COLUMNS)
., == " SEF DETAL B ‘ - ., CENTER HINGES (3 COLUMNS)
42 218 X 7; 3" 18GA WIDE STRUT xR ESDAIR 1VENTSSQ
50" (18 X 8
STRUT ON, JEPER PART OF (0”020 50, 20 GAGE END STILES
» LEAF. (SEE DETALL B). AREA).  OPTIONAL.
1/2" POLYSTYRENE 16 GAGE
AR STRUT ON LOWER PART OF END CAP
8 X7 STANDARD FOR TWO_EXTRA SELF DRILLING
2 3 X 53 MODEL 735 SECTION” ABOVE. HINGE ESEEVsY%LE”EO%iE ig\,%a cg'v%ﬁF'
g%ﬁ’}”fﬁicagﬂ- TYPICAL EACH END HINGE.
p v » Ne—
- WITH 1/4° X 3/4
LONG HEX HEAD
DETAIL E 0 SELF DRILLING SCREW
(2 PER VERTICAL STILE) o DETA”_ C
|4 BRACKETS EACH SIDE | ) —3/8" POLYSTYRENE _—
ﬁﬂeH"SAﬁE‘L E‘OSR“LGS'SN#%T"%%L []:
%SGEALEI-I:_O%NSDT(S)THI?’FA?\IEE. FAUSSTENENDDW&% 750, 755, 426. ¢! ~ NOTE: DOOR MUST BE INSTALLED
F’REF’A'NTED STEEL 7 AILS WITH EITHER AN ELECTRIC OPERATOR
OVER END STILES. ( SEE DETALL C) 25 GAGE ALL STRUT IN_ MIDDLE OF 0/ / OR A LOCK (MUST ENGAGE BOTH
\/
STOP MOULDING NAILED EVERY 9" MODELS EXCEPT BOTTOM SECTION. QY \ TRACKS ON DOORS WITH EXTENSION
6-D TYPE NAIL MIN. AN 24 GAGE MODEL 5 ) SPRINGS).
T =N 750, 755. 13 GAGE GALV. STEEL /
1| BOTTOM BRACKET /\L DETAIL B ’ ’
ATTACHED WITH 3 /I 8 >< 7
1 l FASTENERS. BOTTOM N T/
” SCREW CAN BE ABOVE H.
OR BELOW ROLLER.
SECTION B—B f SECTION A—A NOTE: GLAZING DOES NGOT SATISFY IMPACT ) )
20 GAGE GALV. STEEL CENTER STILE DEBRIS REQUIREMENTS IN FBC ’I 8 >< 8
1> égll-icﬁ\lAcl;_V E;E%IENW_%DIWO&)DDTEQSESBm%KL;F/Sm S)EE1 0 TOG-L—LOC OR POP RIVETED TO PANEL. \‘SF\\\ \ FL 15080
- 18 GAGE GALV. STEEL CENTER HINGE RESIDENTIAL Sl OF TEx Wy
gAé(é g(él?ﬂﬁs_éz WASHERS. PREPARATION OF JAMBS BY OTHERS. FASTENED WITH (4) 1/4,, X 3/4,, ”6. P:,. ,_’)’@\.
HEX HEAD SHEET METAL SCREWS. Z "
P.S.F. TABLE ,:.-' '._**l' E!i&?LT%?\IOBFR
DOOR SIZE DESIGN PRESSURE TEST PRESSURE ;'": ------------------- --:---’ :
/] LITTLE ROCK, AR
WIDTH ___HEIGHT| POSITVE__ NEGATIVE | POSITIVE __NEGATIVE 5 JOHN E. SCATES Vi 72209
A A" NOTE: ALL NON DESCRIPTIVE FASTENERS SHOWN TO BE S ITTI TP PTP PP P PP PP P _
18 -0" |7 -07|+18.7|—20.8 [+28.1|—-31.2 1/4"~20 X 5/8" HEX BOLTS & NUTS OR 1'4,_ 56308 s (501) 562—1872
50" l8—0l+18.7|—20.8 |+28.11=31 2 174" x 3/4" LONG HEX HEAD SHEET METAL SCREWS. 0.66-, ¢ - &2 ——
—-0" |8'-0"+18.7[—20.8 | +28.1|-31. %50 <1 s :
N f ../.C_?_E_p_xsf?E g 724, 426, 730, 735, 750, 755
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES WONAL B < -
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17. A, | D_[RouEr Noes, pe AobRess| 5/27/20 PART NAME:
C |REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. TOLERANCE
B 12/15/11 RLB w1 B
John E Scates P Professional Engineer’'s seal FRAC.% 1/64"
ESGO Iﬁlng Ar‘thur glvd #124-54| provided only fgr verification of A 12866 3/10/08 RLB DEC. £ .615 NEXT LEVEL DATE: DWG. NO.
L%TE\E %5,(%37%87 2003 windload construction details. 2848 11/1/07 RLB ANG. £ 1° 11/1/07 99—-B—079
—PE- SCALE | PLOT SCALE [ DRN. BY
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. oy £ c.N.| DATE: | APPROV. NONE i SHT 3 OF 3
— —



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


	99B079-2020-REV D Sheet1
	99B079-2020-REV D Sheet2
	99B079-2020-REV D Sheet3

		2020-11-10T15:35:45-0600
	John E. Scates, P.E.


		2020-11-10T15:35:57-0600
	John E. Scates, P.E.


		2020-11-10T15:36:07-0600
	John E. Scates, P.E.


		2020-11-10T15:36:22-0600
	John E. Scates, P.E.




